Chapter 2
TIME VALUE OF MONEY

C& VINOD REDDY




Time Value of Money

1. Amount = Principle + Interest

Principle = Amount - Interest

Interest = Amount - Principle

2. Why is interest paid? (\n & wwmevcial fwane qCHdn)

— 1. Time Value of Money |

2. Opportunity Cost

——| 3. Inflation |

— 4. Liquidity Preference |
— 5. Risk Factor |

3. Simple Interest= P . N . %
Amount = P + Simple Interest
- P4+ pNY =P <l-\-\r\’1{>
4. Compound Interest = P [( \ -\-“6)“_:1 - =P [Cl ra)" - 1_‘
Amount = P [(H—'K)hj

5. With Simple Interest

Amount Amount at the end of years
Invested 5=®| 10=2] 15=3%] 20=4%] 25:=s2] 30=cx| 35:=72
P 2P 3P 40 SP cp 7P P
P 3P s 70 ap 11 p \3 \s P
6. With Compound Interest
Amount Amount at the end of years
Invested 7 14 21 28 35 42
P 2P 40 3P 16 0 32p c4 P
P 3P ap 27P 3P 243 ¢ 729 P
P 4P 16 P 640 2SCp 024 p <096 P

7.A=50,00,000; r = 12% p.aS.; P=?;n=10years <gpcoocco = P K2-20
/ /
- Q= p(1+NY) P = 2272 727
S0,00000 = P x ("\" \oxo-19_>
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Time Value of Money

8. A = 50,50,000; r = 13.50% p.a.S.I; P = 20,00,000 ; n = ___ years
— Az p (1+0T)
50'50’000 =

20 00,600 [\ +nX 0"355‘

N= .29 ¢3 yeavs

9.A=2;r=18% p.a.S.I; P=25,000 ; n = 8 years 3 months
)

Az p(Qixny)
= 25000 [\ +(3-2S x Q'W’H
P & 62/ 2SS /__
10. A sum of money doubles itself with compound interest in 10 years. How many times

it will become after 40 years?

—) A Yo
som nvested [ TOY [2O0X 30 [ <0 Y
P 2P [P 2P | 6P
11. Find the future value of I 50,000 after 25 years @ 22% p.a.C.l
—) A= P (\'\-'Zf)h
Futuve _ pvesenf o (& K)h
value value

S

= 273,16, SOG/-—

12. Find present value of < 20,00,000 receivable after 25 years if money is 18.50% effective.
— ‘ycegeNU\‘ value <=

2
= S0000 X Q‘ll)

Eoduse value x  DOISC eum-\-smg\
Yo Ny

= 20 00°S0 X 0:0143S62S7SR = 9.(3/7\3/_
How 4o &nd D\Scouvx-\—'\(\\c') Lok on calcmladoy Xev nTh yeay P
1= (1+¥) +hen gveSs =

H\ step count cowmes (n+2)
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Time Value of Money

)

13. A=2;r=14% p.a.C.Q; P =20,00,000 ; n = 3 years 9 months

Rz p (H—“G')h 34 + 3

= 20,00000 [H— 0;_:":\

- sopme x (9D T mmeae

14. A = 80,00,000; r = 18.50% p.a.C.semiannually; P =2 ; n = 8 years 6 months

— Az (L+x)" g.50 k2
- 0.18S0
2000000 = P (H— Sueee
|7
= . S — 777974 /—
000,006 = £ X <\ 042 ) \5 <777,
15. Compounded No. of conversion periods in a year
Annually |
Semi-annually 2
Monthly 12
Quarterly 4
Weekly S22
Daily 36S
Fortnightly 24

)

16. P =20,000; r = 20% p.q.c.w; n = 3 months; A=2?

Pf: P (l+~‘)h 0.2S YeanS K S22

. 020
- 10{000 |+ S22 B

= 200006 X (\‘00 324{5’324)
ES 2llo')_3/__

L
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Time Value of Money — Z

vJI

17. A = 2,00,000; r = 18% p.a.C.Q; P = 80,000 ; n = years
—_  fzp (1rB)" 4n [ Lg2so = ARy
- + o012 an- Lag 2SO
1loo’ooc - golooo (1 5 - \.aﬂ\.cqs
4n
Q.SO = Q~0<QS> 4n = 0-39794S4131% - .20 yea
0-01911¢ 1gg4S
18. A=20,00,000;r=____ % p.a.C.Q ; P=5,00,000 ; n = 8 years y
— p5
P‘:?(\+'U)h %% ’ \+I:‘<13
x g
2000000 = S 00,000 | \+
— H_rs?al ¥= \7.704512968 7.
A ( 3 PaC®.
19.1.01%=___[. 41660275589
1.1025%=_ 407743202 164
1102857 = 1.9 [F4F 4F4S
1.1826"= 3S92S9Q.792S6
20. A =P (1+1)"
A=Amount = pP3naple + cT = Sum nvested 4+ comp. Tnterest

P= paindple am¥ = sum ‘nvesred
r= Rate of fatexest of cnvercen permod
n= Nb.o canyexsion pexods

21. Discounting Factor= | — (1+3)"
Present Value = (Future Value x Discounting Factor)

How to find discounting factor on calculator? (0¥ nth \/eony)
= = |~ (1+%¥) +hen pess Hu step

n
(H-T) cownt wymes ' nt2 '
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Time Value of Money

Comprehenswe Revision {\\\

22. Simple Annuity is a series of payment / receipts where
Time Grap bet 2 whnsecuhive Avcant paid /veceived
po muﬂ—s/\»ecele‘\'s must be N QMGKS pexed must+
$o\me _ be Aame .
n
23.

Effective rate of interest = (1 +|5|) -1 Where r= Nomnal vate of mresrest

n= NO.oL tphvexsion poeds
nha Yeay

Fnd el . wake Roy 207/ P- m C. sewh annually) ?

e— (\-\-o?‘fo)-—\ P L=l = o-2)

= - 217 Q.Q-C.Q.
24.
Nominal Rate of Interest Effective Rate of Interest
2
12% p.a.c.q (\-\- 0.1 )4_\ S '034_\ = I.SS0 %R /
14.50% p.a.c.m (\-\- 0 “‘30) | = 1012083333317 |
= \S.S03S3s5 2097,
18% p.a.c.semiannually (\'\" "%> -\ = \.oc\l_\ = \®-8\7/.
26.26% p.a.c.weekly (H— 6 ’-GZG 52 1 = lLooSoS | =29.9447S/
—~ =
22% p.a.c.monthly ( |4+ 822 o zz = (.018333333 71\
= 24.3594577827.
25.

Effective Rate of Interest

Nominal Rate of Interest

18% 16.8986¢5418

% p.a.c.q

20%

\}- 3:"_% p.a.c.monthly

28.56% 2£.76664S28

% p.a.c. half yearly

O o.

e (wE)-t L (FEY:

VAR l—\—
¥ =

= - 112
Z \
.

L
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Time Value of Money

26. 18.50% p.a.c.monthly is equivalent to
) ‘U’ >
)= =]

(\+ 0 -\1RSO

12,

3
l-01S4 166666

12 s
I, ols41eee6e = (7

>-<|

1+ Y

¥ 1%, 7g<,7/ Poacy.

27.1) 20.86% p.a.c.q is equivalent to
— . \
(‘ L 02096 > _) (

1.0S 21S

_v

\‘\-E

[(~ETR

% p.a.c. half yearly.

-

2

¥ = 21.403924S 7 p.a.c. hald yeasl

T

n
_ Peviodical qu—\
amount L >

b. Future Value of annuity due =

Pe i

Il) 18.24% p.a.c.q is equivalent to m % p.a.c.¢ny Find m. /l2
—_ e eBENY R [ :(l.lqsasonsq)
< 1R (2
4 m 2 .
) S - —_— = [ q %
[ 64sC ' = (\ o M= 17.9€¢4 89438 7,
28.  a. Future Value of annuity regular =

amount

odical

” R\'\_‘K{\—\ X, (H"h’)
L >

29. Annuity Regular oR &% AnaTY
o\m\\u‘%
Pag)mﬂl\}/tecekq\- \S ok

e end o} v pened

Annuity Due / Immediate

Paﬂmﬁy\}/gecej\Q.\— \S
e S o} ooy penad
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Time Value of Money

30. Present Value of Annuity Regular = (Periodical Amount x Annuity Factor)

31. Present Value of Annuity Due = (Periodical Amount x Annuity Factor) x (1+r)
How fo BRd Wiy — O,\q) Ahen M\ step count OME;

S

Rackox on colewdadoy v &R a\n)_ dhen fresS T
32. Mr. A invested X 500 at the end of each year for 30 years. Find amount to be

received at the end of 30 years, if money is 16% effective.

— (p“-\mre vqglue ol — Qe'smékco.\ amt X

ANNUARA reuoy ¥
*0 ¢ ~ |- Ta40
= 2S00 R = T2gs IS¢/
0-16 rv

O+r9—\

33. A loan of X 8,00,000 is to be repaid in 10 annual instaliments. Find amount of
installment if interest rate is 12% p.a. )
| pvesand value of o\m\wﬁa =PRIy R Gy
QR 00000 = INnglimed X S.-6S0 2230222
0! avg-
Thskallveny awd = T |, 4L SR7 /—

34. A person desires to create a sinking fund to be invested @12% p.a.c.l. by saving some
amount at the end of each year for 30 years to buy house worth < 30,00,000.

Find amount to be saved at the end of each year.

=
Twkure vatne P x () —
ol Od\\\w;m Y‘a\‘\- -

30
Ll =\
3000000 = B.A. X( )

o-\2
P-H. = 22 431

)

35. Rahul invested T 70,000 in a bank at the rate of 6.50% p.a.S.l. he received < 85,925

at the end of term. Find out the period for which the sum was invested by Rahul.

m— p-gsdes P = 70000 ) ¥= 6-S07 0.0.8T .
n=?%
f= p(1+0nY)
2SAS = 70,000 r\a— hxo.ocsoj N= 3.S0 Yeass
Iil‘llli‘IIII'llll‘llli‘IIII‘HI""["HH‘IIH||l‘|l||‘IIH‘IIH‘Illl‘llll‘llll‘llll‘llll‘llll‘llll'1||l‘|||u‘||||
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Time Value of Money
Comp

36. Kapil deposited some amount in a bank for 71/2 years @ 6%p.a.S.1. Kapil received
<1,01,500 at the end of term. Compute initial deposit of Kapil.

— B = \ol,soo/ ¥= 6/ Pa-S.T. n= 7-Sb yeaxs P=7¢
; , / .
A= pQrny)
lo1seo = F D-\- (7-50)(0-0@)]

© = 7000 o'/-—-

37. A sum of ¥ 46,875 was lent out at simple interest and at the end of 1 year and 8

months the total amount was < 50,000. Find rate of interest p.a.

m— P 4687s, Ai=Sope0 D= |.G666666 YeATS

% = /. f.8.8.T -

B = \-l-r\*c) |
soosbP-<-qs VTS YH— \‘QLQQQGX_‘ T4 P S

38. What sum of money will produce < 28,600 as an interest in 3 years and 3 months
@2.50% p.a.S.1.

=P P-9 STz 286 n= 3.2S Yeays ¥ = .SoY

7 T oa.s 1.

ST- PN
21REQA0 = P X 3.2S5S X 0:-0250
= = 31521000/._

39. The sum required to earn monthly interest of 3 1,200 at 18% p.a.S.lis :

— ST-M 1 maﬂ*‘\'\ = \2A00
PXNAY = 1200
- : — Ky =
@X 12 X 0.1 = 12060 ' P 80/000/.__
40. Compute the compound interest on < 40,000 for 1.5 years @10% p.a. compounded
half yearly.
n
—) cT= P [C\‘\"K) —1]
- 3
— “10[000 (0SS =1 i T E630S /=
IH‘HH‘HI||HH|HI||HH|HH|H|||HII||||||||wn,uul||||‘|||||||||‘||||‘t||||a|||‘||u|a|||||||u‘||||
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Time Value of Money

41. What rate of interest p.a. doubles the investment in 7 years at compounded interest?

- A=p (30" . (r)=27F
2f= (1)’ '
(\+“¢) = 2

42. In what time will X 8,000 amount to < 8,820 at 10% p.a. compounded half yearly?
_ n
m—) A= p (1¥3) 2N \ 1.552: (052"
o -
RR20 = YO0O (\ +

¥ = 10:40947364%7 7 ¢

2h =2
[.102S = (\-QS n= \ Yeawy

43. A certain sum invested at 4% p.a. compounded semi-annually amounts to X 78,030

at the end of one year. Find the sum.
— o~ = p(u—zr)
78030 = p_(1- 02)

P = < 7S o00/=

44. The population of a town increases every year by 2%. The number of years

by which the total increase in population be 40% is

a. 7 years b. 10 years 4{4 7 years (approx ) d. None
A= Vo P = px(l 02 )"
\
l.40 = \-027—

45. The difference between simple interest & compound interest on a certain sum of

money invested for 3 years at 6% p.a. is I 110.16. The principle is -

a. ¥3,000. b. 33,700 ¢.312,000 d.310,000 e.None
p(u—x)“—\]— PRy = \\o-16 0.19\016 P —-o0-12p =110.1

\“\.oé_r\_ PRIXGCY = \10-16 O.0llol6 P= 110-16
FIT U] TR T P [T [T PO T [T [ O o [ [ o
P CA VINOD REDDY | Maths Notes |®vqu reddy.ca@gmail.com
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Time Value of Money

Comprehensnve Revision ¢\
46. The compound interest on < 40,000 at 10% p.a. for 3 years when interest is payable

quarterly is - N
— CDN\po\md ntevest = f[(“‘") “]

IK4
=T 40000 [(\ + °{'_"°> _ \}

= qolom\;l-ozs‘l— ‘.] = T 13,795.S52968

47. Use calculator and find answers for the followihg questions :
1.0135)° = |.4Ss6 772 (649

Ql4l. 7 763221
(1.10935)" |7 S7. Q739444 ¢
(1.089123)* = 279.944792€ 47

(1.20635)"

48. Present Value of n Euwjure value  pise.
A Regul P.A X’(1+r) = ]X ! o amuity X ooy
nnuity Regular n © Fachsp
(1+r) S Choy

P.A 1

r X l1'(1+r)“
pwese)z\)r value of m\nui\*y\ Requjay = (p.a, X Avmwi\n .qu\-mr)
49. What is perpetuity? N > s

‘ Perpetuity is an annuity in which the periodic payments or receipts begin on a fixed date ’

P.A
r

and continue indefinitely or perpetually.

a . MY SN
‘negey\)\‘ value o pemehu’h/‘ 2 ( Penodicad amound /}, )
50. The present value of annuity of < 37000 for 15 years @4.50% p.a.c.i is

—) PVQSQI])— value B ?Q%:\OA&CQ \ y A . Fackoy
Q{qu\nwm = awmt
= 3000 X (- 739S4S7SC

oR = '5 32, 3.19/——
‘WeSexﬂ— value . 3000 x a4 Se—— | < 0-SI¢7304423%
sEannuw - QY SO
IH‘I!H‘Illl'llil‘llll‘llll‘lllll‘%‘%""il||l/‘|I|I‘II|I‘IIH|II||‘|I|||II|I‘|I|I‘H|I‘llll‘llﬂ'llil‘lllll‘llll
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Time Value of Money

51. A loan of X 10,000 is to be paid back in 30 installments. The amount of each
installment to cover principle and 4% p.a.c.i. is

a. 587.87 b. 587 c. 587.30 {d.’None of these
\ woax = waskal) A La
— preseny value ol Ntk '@a a gl x vy
\0,000 = instal. amk X 17.2920 332979
instad\mend = F S72.30

52. A person invests I 500 at the end of each year @10% p.a. The amount standing to

his credit one year after he has made his yearly investment for 12" time is:

%I 1,761.36 b. 10,000 c. 12,000 d. None of these
. \2
Euwuse value of awnu \«\o —
ak the e o 2 yeoyS o-lo
1060 . 141836 + Vo7 = | 7¢1.3¢

53. A person bought a house paying I 20,000 cash down & T 4,000 at the end of each

year for 25 years, at 5% p.a.c.i. The cash down price of house is :

a.375,000 b. 376,000 //V? 76,376 d. None of these
Yresuy  value
)_O(Q ol @ Q_Q)IQQC:
Pxeden) value ol — 4000 X 140334 45646
as Qa&mew\' &l 4oco = S6 37¢
eadn —
cash down p=ce = 76,376

54. The difference between simple interest and compound interest at 5% p.a. for
4 years on < 20,000 is

mp DI T - X
— 20000 [\.Osq_ﬂ — <20/0(>0K <47<S7.>
4

= 4310.125 — 4000

=< 3l0.\32S
IH‘HH|HI'|Hll|Hl||HH‘Hll|H|||H|I IlllIl||‘llil‘llll‘Illl‘lllllllli‘llll‘llll‘llll‘lll!|HH|I||H‘IIH
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Time Value of Money

55. The compound interest on half yearly rests on T 10,000, if rate for 1" and 2" year

being 6% and for third year being 9% p.a. is <

a. 2,200 b. 2,287 c. 2,285 _# None of these
4 2
A= \0,000 x (u-o3)] X 1+043 = 12,240
c I = \llzqo— \0,000 — 2290

56. Vinod borrows < 6 lakhs housing loan at 6% p.a. repayable in 20 annual equal

installments commencing at the end of first year. How much annual payment is necessary.

a.352,420 b.352,400 4,‘?? 52,310 d. None of these _
semgr ) - -ty
xe talue of annutu YagWas = Instur
u *5 '?6 att- N Rackoy

Coonss = InSk. amt X [1.4€99212174

J:hs*q)\.om\)\' e 52/3\0

57. Raja aged 40 years wishes his wife Rani to have I 40 lakhs at his death. If expectation

of life is another 30 years & he starts making equal annual investments commencing now at

3% c.i.p.a. How much should he invest annually?

a. 88,448 b. 84,450 c. 84,449 4?84,080
Q)
+3x) =1\
P.A.X Q ) = <4008,000
"
30
.03 — | = 4000900
b .
Q.03
p.R. = 9,41/077
IH‘HH‘HI||HH|HI||HH|HH|H|||HII||||||||wn,uul||||‘|||||||||‘||||‘t||||a|||‘||u|a|||||||u‘||||
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Time Value of Money

58. A TV can be purchased by paying 3 10,000 now and < 20,000, X 50,000, < 90,000,
I 80,000 at the end of years 1,2,3,4 respectively. Find cash down price of TV if money is
12% effective.

Comprehenswe Revision {\\\

a.31,83,816 _%1,82,618 c.31,86,218 d. 31,62,861
P oy mem) pvesend value
S Now) 10,000
20 000 pRter ) 20,000 X 0-3928S71428S = [78SF
solooo Y2 39860
0 000 Y3 €4 060
YO Q00 Y4 SO 29|
' cash dowWnpaia= 1,82,6\Q
59. Effective rate of 21.94% is equivalent to % p.a.c.monthly
a. 21.94% -;? 20% c. 20.66% d. 22.77%
x N T\ =
- —  \ N ' —_ - \.2
£ vake _(H_ : ) = \2> —1.2194,
0.2144 = (H-—‘ —\ ¥= 20/ pa.c.m.

60. Out of certain money (1/3)" is invested at 3% , (1/6)" is invested at 6% and rest at

8% for 2 years. Simple Interest from all these investments is I 600. The original sum is :

a.33,500 b. ¥ 4,000 /f/z 5,000 d. 7 4,500
-—?— "I/ K2 = —Ov62
(3) P
(P % %)x%/ %2 :(‘Z‘”‘P)xgy.xz =56.63 P

Q.D_\D = 600

P = 2 SO0O0
Ill|lll‘|Hli|llll|!|li‘HH‘HII|H|||H|I IlllIl||‘llil‘llll‘Illl‘llllllllilllll‘illl‘llll‘lll!‘llilll!ltl‘llll
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Time Value of Money

61. Population of a village is 10,000. If it increases at 10% p.a. What will be its
population after 3 years?

/t 3,310 b. 14,220 c. 17,908 d. 13,000
_ 3
R = 10000 x (1.10)
= 133lo

62. On a certain sum simple interest at the end of 6.25 years become (3/8)" of sum.
The rate of interest is

a. 7% b. 9% c. 5% %{ 6%

é ST P.NnY
_%_}{ = X(X 6:2S KX ¥
0.06 = %

63. The amount of certain sum of money with simple interest at certain rate of interest
is 32,660 in 3 years and X 3,100 in 5 years. The rate of interest is :

a. 12% /l 1% c.X13% d. 10%

Sow

nveded— T 2. Y 3. X QY SY

2000 2220 22440 2660 230 3loo

W efF tvyear —2206

IH‘HH|HI'|HH|HI|‘HH‘IIH|H|||H|I Illl|l||‘llil‘lllllllll‘llll'llll‘llll‘llll‘llll‘llll'll|l|ll|ll‘llll
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Time Value of Money

64. At what rate of compound interest money will amount to 8 times in 20 years?

a. 12.75% b. 11.22% £210.96% d. None of these
— f=p (\-\-“c)h
p}
3y{ = f (x) °

L .
(H_x') = %/20 ’K:\O.G\SQ7ZSQG\‘/.
65. At what rate of simple interest money will become 8 times in 20 years?
4./ 35% b. 40% c. 30% d. None of these
A= p(4ny)

%yf:)z{ (\—\-20’?5)

il MR ST

66. In what time < 1,00,000 will become < 8,00,000, If rate of interest is 10% p.a.s.i
a. 77 years b. 7 years /e,’ 70 years d. 17 years

%Ioolooc: = \,Qolooo <\-l— hxo-\o)

N-=—70 Yeawrs

67. A sum of money triples itself with compound interest in 9 years. How many times it

will become after 81 years?

a. 27 times b. 6,561 times c. 81 times % 9,683 times
alten Yeoxs
q 1 27 368 4S S4 63 7 2|

P3P 9 27 R/p 243p 729p e7p 6S6IP  195L3p

IH‘HH|HI'|HH|HI|‘HH|HH|HH‘HH Ill‘|l||‘llll‘llll‘Illl‘llllllllllllll‘llll‘llll‘llll'll|l|ll|ll‘llll
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Time Value of Money

68. A machine costs I 5,20,000 with an estimated life of 25 years. A sinking fund is
created to replace it by a new model at 25% higher cost after 25 years with a scrap

value of realisation of I 25,000. What amount should be set aside every year if money is
3.50% effective?

a.% 16,000 b.3 16,564 //xz 16,046 d.% 16,005
Mowey reguivred alten 1S yearss — (Sllo’bub —\—2s'/_) ~2S000
.31 = & Q00
PA.X = §,25,
Q.93S

- 8. T l1604Q

69. A sum of 3 80,000 invested in a bank @10% p.a.s.i. for 5 years. Find amount, simple

interest.
Year Opening Balance () Interest %) Closing Balance (3)
1 O + 90,000 30,000 x10 /. =3,000 38,000
2 ¥R 00 30,000 x107. =@ 000 96,000
3 96,000 30,000 x10 7. =§,000 1,04 000
4 |, 04,000 30,000 x10 /. =,000 \, 1000
5 \,\R 000 30,000 x10 7. =000 |,0,000

Amount receivable at the end of 5 years= < | 2.0 000

Simple interest for 5 years = \l9-0,000 -z 80/000 = % <10/C)0C>

40000 = $0000 XS X 107,
ST= PN ¥

A ocmj' — + ST
: = §+ PNy = ?[\’rh{]

IH‘HHIHI'|HH|HI|‘HH‘HH|H|||H|I |||||||||||||‘||n‘||||‘n|||||||‘||||‘t||||a|||‘||u|x|||||||u|||||
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Time Value of Money

Comprehenswe Revision {\\\

70. Mr. A deposited X 80,000 in a bank @10% p.a.c.i. for 5 years. Find amount
receivable after 5 years and compound interest.

Year Opening Balance (3 ) Interest (3 ) Closing Balance (%)
1 O + 30,000 30,000 X107/, = Q@ 000 2 8,000
2 32,000 g 000 X107, = 8,800 | 46,800
3 946,00 96,206 X \©/. =680 | 1,06480
4 \,06,4%0 1o 642 117,12 €
5 | \7,12€ 1, 71.80 1,2@,840-30

Amount receivable at the end of 5 years = | 2% 240.30

Compound Interest = ll2_2/%40-42 - 20,000 =4 8/2410 .30

| 22 240.80 —(%0000 KA 1o) X410 X 116X 110 X 1. 1O
30006 X (H—o o) cxz p(rEdD —

= p [(v«“c)“ a

1(3.?,%40.%0 =

A = <\ 'S K)
71. P=31,00,000; r = 12% p.a.c.q; n = 2 years, A =
Opening Balance %) Interest ) Closing Balance %)
Year 1 Q1 | 00,006 3,000 \,03,0060
Q2 \,03,000 3,090 1,066,090
Q3| (,06,040 3.182.70 1,64,272.70
Q4 |,04,272-70 3278 Jde | 1,1,SS0.88 |
Year 2 Q1 1,13 Ss0- 821 3376.52¢43 1,1S, 927.40743
Q2| ()5,927.40743 347, 922222 1,14,40S. 220652
@3| 1,194,405 220652 3 s82.1s¢g@as€| 1,2,227-38€54 |
Q4| \,329¢7-3Q€s4l 3;(@,, 1sa6R] 1,26 677, 608 13F

Amount to be received after 2 years = P (\'\'“G)h

¥ = Rate o \nterest
Rox +he . pemod

n = NO. o tonwersion pemods

o112
= 1,00,000 <\+ o

T 1,00000 X (1-03)9

LX Y

= T 1,26 677-00813F

L

CA VINOD REDDY |
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Time Value of Money

) YL, / :/; =
72. You require < 32,00,000 at the end of 9 years from now. Find the amount you

should keep aside at the end of every year, if money is 14% effective
a.32,20,819 b. X 3,00,000

Loty =1
o4

=

c.X3,55,556 %\lone of these
32,00000 = PA.x ( >

e.A&. = \,019/0130)

73. Simple interest on < 25,00,000 for 8 years and 4 months @ 19.25% p.a.s.i is
sxT= 0N Y

2S,00000 X R .333333333 X \A4.2S /.
3 40,10,416 -666(6(

74. A sum of % 12,000 deposited at compound interest becomes double after 5 years.
After 20 years it will become :

a.<1,44,000 b. T 2,40,000 %/? 1,92,000 d. None of these
A dterr YearsS
S o \ S 2.0
|Ro00

24000 42000 94000 1,942,006

%A 0% b. 5% c. 14%

75. A man deposits I 2,000 @ 4% p.a. and X 3,000 @ 14% p.a. Find average rate of
return he is earning on whole sum?

d. None of these

T 200060 X 47

= X806
T WA K4/, = T 420

\o 7. So0
5 S000 > X

IH‘HH|HI'|HH|HI|‘HH‘HH|HH‘HH Illl|l||‘llil‘lllllllll‘llll'llll‘llll‘llll‘llll‘llll'll|l|ll|ll‘llll
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Time Value of Money

Fosmulae

Simple ‘mtexest = POy

Amount whem k. is swmple = p (1+ nY)
compound tnterest = p ECH'”G)““]

: . n
Amount when int . (s wwmpound = p (1+7%)

. n
e vate o wnt = (\—\- %) —

N

Ewdure value = ‘»‘cegex\i‘ value x  (1+¥)
\ hn
e = Ewuve valuge x Discounng

pTeSeArd' \a \ue E iy,

. \ ||
D\Sﬁou‘(\-%—m:_\ Calkoy —= C H—X)h

n
Fuwpuve value of Pexmadical X (H-FK) —L

qm\ukka rea\um T awk ~
n
Fudure value o Pemgdical - (H—’K) —L < (\-\-X)
ANA due T awk ~
o mmediate
= annu
pregent value b <\°€?;<Y*§\«;°d X Fat)\-:?)
o(LomwMU reaum
\ pexrodicad AY\Y\\(AM x(\-\-]’)
Pxem.{:)q re = amy 1wty
off U ueé
P‘egw value - Qe%:\o&ca,l um\outd‘/w>
ol pexpetuty
R N KM L e R A R
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Time Value of Money

c.

How o ind D\Scesux\-\:\hs Radoxy o ccguth«\w?
(box W™ yeaw)
—
| = (1+%) +hen eSS = = = -
axll ST count meg CT\-\-D.)
How to &ihd  Annw Packoy o cedttdatr P
(Rex 1 yeaxs)
—
— (\—\-*6) e eSS = = = ...
A1 ST count wwmeg CT\-\-D_)
themm prvess (T
) |
WA \ —_ e
) M - \ a1 2 + )3
Padioy Q) (Y C
e |
C )P
- _
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